GOES X-ray Flux

6 Feb 2018 (DOY 037)

Time (UT)

@ X
S M
0 C -
o}
© B
A
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. ESP 0-7 nm
T 04[ ]
> r ) ]
€ 0.3F
~ =+ -
g / m :
c 0.2
3 N v ;
2 o0 i
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
—~ m0|uw nm
e 2.5F E
~ E 3
= 2.0F =
£ E E
o 1.5E E
(8] E 3
C e 3
2 1.0E =
S E E
m 0.5E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XX 13.28 nm (log T=6.97)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
..w - .
£ 0.75L .
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81)
t 2.25[0 7
> .
€ 1.75F .
o C i
€ 1.25F .
..w - .
£ 0.75L .
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Irradiance (mW/m?)

Fe XVI 33.54 nm (log T=6.43)

0.0325[ ]
0.0275} gy .

- xc ]
0.0225F _ .
0.0175L ]

18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIV 21.13 nm (log T=6.27)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
..w - -
£ 07sL ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIl 19.51 nm (log T=6.13)
t 2.25[0 7
> .
€ 1.75F .
o C ]
€ 1.25F .
..w - -
£ 07sL ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe IX 17.11 nm (log T=5.81)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
3 r ]
£ 07sL ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N He Il 30.38 nm (log T=4.70)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
5 L ]
2 0.75L ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Time (UT)

'E ESP 0—7 nm
= 0.4 - A —
£ o3 AN & =
O‘QWU‘AAWK%«.\/ N AT
2 0.1 -
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E ESP 17.1 nm
> 0.405 3
E 0.400 =
S 0.395F vp&‘ P‘M
£ 0.390E
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
\s ESP 25.7 nm
> 0.2333F " =
E 0.2267F : =
S 0.2200 P ! : ¥ -
e} + + +
5 0.2133 “ + %
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks ESP 30.4 nm
~
=
E
[0}
18]
C
5 |
e
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
A ESP 36.6 nm
> T -
é T : :ﬁ + 3
8 #
.5 3 + “ )4 ¥ *
©
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
“g MEGS—P 121.6 nm
> 6.27F =
E 6.13E - =
8 6.00F % =
2 587E * =
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)

Irradiance (mW/m?)

Time (UT)

ks Fe XX 13.28 nm (log T=6.97)
> 2.25F =
E 1.75F 3
[N - 3
0 1.25
Q = =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XX 72.16 nm (log T=6.96)
> 0.00282F . =
E 0.00269F s *Ti% E
- 2 -
$ 0.00256 F %ﬂ& =
< = =
2 0.00242E o' 3
e
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
Fe XX 56.79 nm (log T=6.96)
7.93x107*E 3
7.67x107E Y =
7.40x107* F e =
7.13x107*E g 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
Fe XIX 59.22 nm (log T=6.89)
8.08x107*F " 3
7.81x107*E B 3
— + + + -+ —
7.55x107* st St 3
7.28x107*E it =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ks Fe XVIIl 9.39 nm (log T=6.81)
> 2.25F =
E 1.75F 3
[N - 3
0 1.25
Q = =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e S XIV 44.57 nm (log T=6.44)
> 0.0014F T =
E — —
E 0.0013F =
$ 0.0012F =
s = =
2 0.0011E 3
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe XVI 36.08 nm (log T=6.43)
> 0.01033F =
E 0.00067F =
[N - 3
2 0.
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XVI 33.54 nm (log T=6.43)
> 0.0325F 3
E 0.0275F > ot =
S 0.0225F O =
2 0.0175E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



_

_

Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

Time (UT)

ks Fe XV 28.42 nm (log T=6.30)
> 2.25F =
= 4 c 3
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
Si XIl 49.94 nm (log T=6.29)
0.0063 F T 3
0.0062 F =
0.0061 F i
0.0060 E y =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
Si Xl 52.10 nm (log T=6.28)
92x107°F ¥ 3
87x107*F -
82x107°F -
.78x107°E 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ks Fe XIV 21.13 nm (log T=6.27)
> 2.25F =
= 4 c -
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe Xl 20.20 nm (log T=6.19)
> 2.25F =
= 4 c -
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XIl 19.51 nm (log T=6.13)
> 2.25F =
E 175E =
S 1255 =
2 0.75E -
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
Mg X 60.98 nm (log T=6.10)
0.00667 F =
0.00653 F =
0.00640 -
0.00627 E -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ks Fe XI 18.04 nm (log T=6.07)
> 2.25F =
= 4 c 3
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Time (UT)

£ Mg X 62.49 nm (log T=6.05)
> 0.0066 F 3
E 0.0085F =
S 0.0064 F =
-2 0.0063E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Mg IX 36.81 nm (log T=5.99)
> 0.049F v ; 3
- 't g -
E 0.048F 3
S 0.047F =
2 0.046E =
g 1800 22:00 02:00 06:00 10:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe X 17.72 nm (log T=5.99)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Ne VIl 77.04 nm (log T=5.81)
> 0.01332F N =
E 0.01305F =
8 0.01279F =
2 0.01252E =
2 18:00 22:00 02:00 06:00 10:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe IX 17.11 nm (log T=5.81)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Ne VIl 46.52 nm (log T=5.71)
> 0.0150F 3 =
E 0.0148F =
S 0.0146F =
2 0.0144E 3
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe VIl 13.12 nm (log T=5.57)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O VI 103.19 nm (log T=5.47)
> 0.051F =
E 0.049F =
S 0.047F =
£ 0.045E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

OV 62.97 nm (log T=5.37)

0.04433F ; =
0.04367 H E
0.04300 F i =
= " =
0.04233E i =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
£ O IV 79.02 nm (log T=5.19)
= 0.0127F T =
E 0.0123F ‘gt =
8 00118 Fe -
2 0.0112E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O IV 55.44 nm (log T=5.19)
> 0.0214F ¥ =
£ 00212 =
) - 3
© 0.0210F -
-2 0.0208E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
O Il 59.96 nm (log T=4.92)
4.30x107°F =
4.25x107°F =
4.20x107°FE =
4.15x107%E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
O Il 52.58 nm (log T=4.92)
2.35x107°F =
2.30x107*F LN =
2.25x107* F o + E
2.20x107°E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
e C Il 97.70 nm (log T=4.84)
> 0137 =
E 0.123F s
[ - 3
Q 0.110: | Il 3
£ 0.097E =
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 25.63 nm (log T=4.75)
> 2.25F =
E 175E =
S 1255 =
2 0.75E -
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 30.38 nm (log T=4.70)
> 2.25F =
E 175E =
S 1255 =
2 0.75E -
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

Irradiance (mW/m?)

Time (UT)

£ O 1l 83.55 nm (log T=4.52)
> 0.0375F N =
E 0.0325F m =
$ 0.0275F =
2 0.0225E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
O Il 71.85 nm (log T=4.48)
3.94x107°F ¥ =
3.81x107°E -
3.67x107°FE =
3.54x107°E 3
18:00 22:00 02:00 06:00 10:00 18:00 22:00 02:00 06:00
Time (UT)
€ He | 58.43 nm (log T=4.16)
> 0.03883F N =
E 0.03817F : =
8 0.03750 F @s =
2 0.03683 L =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E H 1 102.57 nm (log T=3.84)
> 0.072F =
E 0.065F E
[ - =
© 0.059F | =
£ 0.052E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ H197.25 nm (log T=3.84)
> 0.01781F =
E 0.01715F =
8 0.01648F =
2 0.01581E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= H 1 94.97 nm (log T=3.84)
> 0.0127F =
E 0.0113F ¢ ale 3
) - Al 3
© 0.0100F I =
-2 0.0087E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
He | 53.70 nm (log T=3.84)
4.60x107°F " =
4.55x107°F =
4.50x107°F =
4.45x107%E 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

AlA 94 Channel

225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 131 Channel
225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 171 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 193 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 211 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlA 304 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 335 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

MEGS ESP 17.1 nm

2.25F =
1.75F -
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 25.7 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 30.4 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 36.6 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?
Irradiance (mW/m?)  Irradiance (mW/m?) (mW/m?) (mw/m?)

Irradiance (mW/m?)

Time (UT)

MEGS—A1
1.25F -
0.75F 3
0.25F =
— - —
-0.25E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—A2
1.25 — -
0.75F 3
0.25F =
— - —
-0.25E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
MEGS-B Short
0.45F " 3
0.40F =
0.35F =
0.30 ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—B Middle
0.26F N 3
0.24F =
0.22F =
0.20E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—-B Long
0.95F 3
0.85F # =
0.75E t I -
0.65E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00



